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Part A

Answer alf questions.
Each question carries 3 marhs.

1. Discuss the general model ofan embedded system.

2. Write a note on memory shadowing.

3. Compare 12C bus and SPI bus in terrns of their performance.

4. Describe how power factor is measured in a d.c. motor.

5. Expiain release time and scheduling time.

Part B

Answer all questions.
Each question carries 5 marks.

6. List out the features and general characteristics ofan embedded system.

7. Explain Harvard architecture in processes.

8. Write a note on data transfer in USB.

9. Explain the steps in the typical desigrr ofa position control system.

10. Discuss two examples that need real time capabilities.
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Part C

Answer all questions.
Each question carries 12 marhs.

11. Briefly explain the applications of embedded system in any four areas of its use. (12 marks)

12. Discuss in detail on embedded SoC. (12 marks)
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"riteria in choosing a programming language for embedded software

(b) Write a note on polymorphism.

(a) Dxplain the general hard 
or

(b) write a note on 
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of an embedded svstem.

Explain how CAW works.

Or(a) Explain hot attachment and detachment. What are tl
(b) write a note on vDIp. 

e bus protocols tn^t 
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(a) Explain ADC interfacirig. (6 marks)
(b) write a note on keyboard response coders. (8 rnarks)

^ (4 marks)
(a) Explain watch dog timers. 

or
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(8 marks)
(4 marks)

(12 marks)

15.

16.

17.

18.

(b) Explain how fiequency of a d.c. motor can be measured.19. Explain in detail, onli:re and oFline scheduling with suitable examples.

20. Discuss different pre-emptive methods 
"rr"?ld"r*in ," or.

(8 marks)
' " (4 marks)

. (12 marks)

(12 marks)

[5 x 12 = 60 marks]


